9 8 7 5 | 2 |
| DIMENSIONS WITHOUT
TOLERANCES
DS/ISO 2768-
F
12,00
| 4.00
166-Old N 21.50
- E
B 2
7 D i
O O H1—]
A
o \ / ¢ o D
S O Q
4 o « i o~ ]
O~ <t —
Y
e O ) )
. Y, il
C
B 161.00 B
- 257.00 - B
Mote,
' standard nut M4 = 8 pes.
Lock washer M4 = &8 pcs
SCO |e ] * ] out it in a separate 7ip bag in the package
i i i
P 2/2 & ¢
ease see page 2/ | @) &
B
S Sheet 1 /2
ITEM NO. PART NUMBER DESCRIPTION QTY.
1 EXTER K30 EG=2.0T mm 1
2 PEM FH-M4-12 X--N 8 [
3 Gasket K30 T=2.0 mm. 1
4 1700000030 Nut M4 8
5 1721480160 Lock Washer M4 8
6 2200000504 Powder paint interporn 610 silver fine texture 0.01
— — MATER'AL THIS DRAWING REMAINS THE EXCLUSIVE
TOMER 1 urface: mm?
COSTO Beljer ; Vrf/eight: g.
Spv s Toaland) Co. ig CUSTOMER/NO.: scae 1]
i B e, || DESCRIPTION: A3
Al dimensions are in milimeter. Adaptor plate from k30/E1032 to x baseb 6‘@
e EASED IGPVITEMINO.: 2180305-K30 BOO oA
|
9 8 7 PROJECTNO.:




93.00

é 5 4

Y

A

Scale 1:1 20180305-K30 BOO Sheet 2/ 2

6 S 4

166-0Old . 21.50
a N
- o N
AN
AN /
AN e
N o 8
N -
e AN
e AN
e
N\ @ J
\S Y
. 161.00 _
257.00




	Sheet1
	Drawing View1
	Drawing View12

	Sheet5
	Drawing View13


